Clapter 3 ! Different ation Rules S.I: Derivatives of Polynomials and Exponential functions 3.2: product Rule and Quotient Rule 3.3: Derivatives of Trigonometric functions 3.2 Product Rule If f, g are both differentiable functions $\frac{1}{4}\left[f(x)g(x)\right] = f(x)\frac{1}{4}\left[f(x)\right] + g(x)\frac{1}{4}\left[f(x)\right]$ 1ersniz (fg)' = fg' + gf'If $f(x) = x e^{x}$, find f'(x) $= \times e^{\times} + e^{\times}$ t is given function f (finst denvelve) $\left[f(x) = e^{x}(x+1)\right)$ I'f (second dem vahre) $f'(x) = e^{x}(x+1)$ (for demande) f" (that demake) ful f" (seems dervate) fin) (who dervahue) ex. 1 + (x+1) ex $= e^{\times} (1 + \times + 1)$ $= e^{\times} (x+2)$ (Fur the third demande)

= ex. 1 + (x+2) ex

$$= e^{\times} (1 + x+2)$$
$$= e^{\times} (x+3)$$

If
$$f(x) = e^{x} \times f$$
, we see that

$$f'(x) = e^{x} (x+1) \qquad \text{first deniche}$$

$$f''(x) = e^{x} (x+2) \qquad \text{Search deniche}$$

$$f'''(x) = e^{x} (x+3) \qquad \text{think deniche}$$

$$f^{(4)}(x) = e^{x} (x+4) \qquad \text{fouth deniche}$$

$$\vdots$$

$$f^{(n)}(x) = e^{x} (x+n) \qquad \text{Nh. deniche}$$

Remark (all | Fro class

Then the nth deniverine for
$$n = e^{x} (x + n)$$
 is given by $f^{(n)} = e^{x} (x + n)$

from the Homework

$$f(x) = x^n$$
, find $f', f'', f''', \dots, f^{(n)}$

$$f'(x) = n \times ^{n-1}$$

$$f''(x) = n (n-1) \times ^{n-1-1} = n (n-1) \times ^{n-2}$$

$$f^{(1)}(x) = n(n-1)(n-2) \times n-3$$

$$i = n(n-1)(n-2)(n-3) \cdot --3(.1)$$

$$f^{(n)}(x) = n(n-1)(n-2)(n-2) \cdot \dots \times x^{n-n}$$

$$= n(n-1)(n-2)(n-3) \cdot \dots \times x^{n-n}$$

$$= n(n-1)(n-2)(n-3) \cdot \dots \times x^{n-n}$$

Temente if
$$f(x) = x^n$$
, then $f^{(n)}(x) = n!$

Week 5 Page 2

Quokient Rule

If
$$f, g$$
 are both differentiable, then

$$\frac{d}{dx} \left[\frac{f\omega}{g\omega} \right] = \frac{g(x)}{dx} \frac{d}{dx} \left[f(x) \right] - f(x) \frac{d}{dx} \left[g(x) \right] \\
= \frac{g(x)^2}{g^2}$$
Lectoniz

$$\frac{d}{dx} \left[\frac{f(x)}{g(x)} \right] = \frac{g(x)}{g^2} \frac{d}{dx} \left[\frac{g(x)}{g(x)} \right] = \frac{g(x)}{g^2}$$
Exercise

$$\frac{f(x)}{g(x)} = \frac{x^2 + x - 2}{x^2 + x - 2} = \frac{f(x)}{g^2} \frac{dx}{g^2}$$

$$f(x) = \frac{x^{2} + x - 2}{x^{3} + 6}, \quad \text{find} \quad f'(x)$$

$$\frac{d}{dx} \left[\frac{x^{2} + x - 2}{x^{5} + 6} \right] = \frac{(x^{3} + 6) \frac{d}{dx} (x^{2} + x - 2) - (x^{2} + x - 2) \frac{d}{dx} (x^{3} + 4)}{(x^{3} + 4)^{2}}$$

$$= \frac{(x^{3} + 6) (2x + 1 - 0) - (x^{2} + x - 2) (3x^{2} + 0)}{(x^{3} + 4)^{2}}$$

$$= \frac{(x^{3} + 4) (2x + 1) - (x^{2} + x - 2) (3x^{2} + 0)}{(x^{3} + 4)^{2}}$$

$$= \frac{(x^{3} + 4) (2x + 1) - (x^{2} + x - 2) (3x^{2} + 0)}{(x^{3} + 4)^{2}}$$

$$= \frac{2x^{4} + x^{3} + 12x + 6 - (3x^{4} + 3x^{3} - 6x^{2})}{(x^{3} + 6)^{2}}$$

$$= \frac{2x^{4} + x^{3} + 12x + 6 - (3x^{4} + 3x^{3} - 6x^{2})}{(x^{3} + 6)^{2}}$$

$$= \frac{2x^{4} + x^{3} + 12x + 6 - (3x^{4} + 3x^{3} - 6x^{2})}{(x^{3} + 6)^{2}}$$

$$= \frac{2x^{4} + x^{3} + 12x + 6 - (3x^{4} + 3x^{3} - 6x^{2})}{(x^{3} + 6)^{2}}$$

$$= \frac{2x^{4} + x^{3} + 12x + 6 - (3x^{4} + 3x^{3} - 6x^{2})}{(x^{3} + 6)^{2}}$$

product Rule

fig are differentiable f, g are differentiable (fg)' = fg' + gf' (fg)' = gf' - fg' g^2

Exercise $f(t) = \int t (a + bt) = t^{ln} (a + bt)$ $f'(t) = \frac{d}{dt} \left[t^{ln} (a + bt) \right]$ $= t^{ln} \frac{d}{dt} \left[a + bt \right] + (a + bt) \frac{d}{dt} \left[t^{ln} \right]$ $= t^{ln} (o + b) + (a + bt) \frac{1}{2} t^{\frac{1}{2} - 1}$ $= b \int t + (a + bt) \frac{1}{2} t^{-\frac{1}{2} - 1}$ $= b \int t + \frac{a + bt}{2t^{ln}}$ $f'(t) = b \int t + \frac{(a + bt)}{2t}$

Madreal & Rahmed
Notetion & Exposent

Ta = a 1/2

3/9 = a 1/4

Ta = a 1/4

Ta = a 1/4

Notetion & Ta = a 1/4

Ta = a 1/4

Notetion & Ta = a 1/4

Ta =

Hew set of HW on Web assign

3.1,3.2,3.3

Exam r practice (set & new exercises)

Fram 2 2.5, 2.6, 2.7, 2.8, 3.1, 3.2, 3.3 Hells)
We you took the accomment on Aleks
Leauny modules